
www.essve.com

Art.nr
Benämning

EAN-nr
Förs.-
enhet

Ant/
förp

Förp/
storp

Art.-
grupp

540102 Vagnsbult MVBF fzb M6 × 30 7317765401021 PC 4 10 P1006
540106 Vagnsbult MVBF fzb M6 × 50 7317765401069 PC 4 10 P1006
540110 Vagnsbult MVBF fzb M6 × 70 7317765401106 PC 4 10 P1006
540112 Vagnsbult MVBF fzb M6 × 100 7317765401120 PC 4 10 P1006
540124 Vagnsbult MVBF fzb M8 × 50 7317765401243 PC 4 10 P1006
540128 Vagnsbult MVBF fzb M8 × 70 7317765401281 PC 2 10 P1006
540132 Vagnsbult MVBF fzb M8 × 100 7317765401328 PC 2 10 P1006
540146 Vagnsbult MVBF fzb M10 × 80 7317765401465 PC 2 10 P1006
540150 Vagnsbult MVBF fzb M10 × 120 7317765401502 PC 2 10 P1006

Art.nr
Benämning

EAN-nr
Förs.-
enhet

Ant/
förp

Förp/
storp

Art.-
grupp

550400 Vagnsbult MVBF A4 M6 × 30 mm 7317765504005 PC 4 10 P1006
550412 Vagnsbult MVBF A4 M8 × 40 mm 7317765504128 PC 2 10 P1006


